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This is a correction to Lemma 2, which leads to a cleaner proof of the main theorem.
Let g(n, k) = 1/k2. Let ϵ(n, k) = f(n, k)− g(n, k). Then
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Therefore we can bound

n∑
k=2

|µ(n, k)ϵ(n, k)| ≤
n∑

k=2
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1/k → 5 lnn− 1
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As n goes to infinity,

1−
n∑

k=2

µ(n, k)f(n, k) → 1−
n∑

k=2

µ(n, k)g(n, k).

Since

1−
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µ(n, k)g(n, k) =
∏

p a prime

g(n, k) = 6/π2,

this completes the proof.
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